Exiting Vacuum flange

= Assumption: 5 mil Al

Exiting vacuum Window xray E distribution per bunch
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Through first air gap

= 15.5" air (from flange, past magnets)

Exiting air Volume wray E distribution through air
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To detector (all air)

= 360" of aIr transport

Exiting air volume xrey E distribution through air
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With He section

= 15.5” (front) + bag + 309.5” He + 35" air (shield port)

14-DEC-2010

Exiting He volume

wray E distr. sxiting He bag
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Detector captured w/ He section

= 15.5” (front) + bag + 309.5” He + 35” air (shield port)

Lost in active InGaAs volume raya i cive inada
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Detector captured w/ He section

= 15.5” (front) + bag + 309.5” He + 35" air (shleld port)

Lost in active InGaAs volume i
Entnes 30
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* 2) 11,000 pulses (t4us)
3) TARGET _eval gnly 0.5us window
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Detector captured all air

= 360” air — strictly zero for all air — 100 shots!

Lost in active InGaAs volume [ T P e
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